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3) Open Systems & Density operator
In principle ,

all problem a be solved using wave

functions ,
but this am be cumbersome ...

- find treatment with limited "syptem ,

"

where environ-

ment can be traced out without sacrificing accuracy .

New description of stak via "g" :

"density operator" or "density matrix'

a) Properties for supler in state 142 :
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I is an 'operator .
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S must satisfy :
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Thus
,
the set of properties need to be moised :

1) S = St Las above)

2) Tr 9 1)" S
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b) Suplene + Environment

bal syphem /universe) - 14)

- "System" + "revoir"
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